Fifth Grade Weekly Homework Sheet 8                                   
Name_____________________   Date: ______________________ Score:  ______________________
	
	MONDAY 
	WEDNESDAY 

	1.
	Write in word form: 
201,000,034,000.007


	Write in expanded form: 
201,000,034,000.007


	2.
	A supermarket receives 625 cases of oranges. Each case holds 135 oranges. How many oranges in all does the supermarket receive?


	Mike, Tim, and Maria tried to guess the age of their grandmother. They guessed 68, 70, and 75. One guess was incorrect by 4 years, one by 3 years, and one by 2 years. How old was their grandmother?



	3. 
	Write an expression that means find the product of 14 times 8, and then add 5.

	Write an expression than means 15 less than the sum of 22 and 10.

	4.
	List all the factors of:

12:
24:

Circle the largest number common to both lists. This is the greatest common factor (GCF).
	List all the factors of:

21:
35:

Circle the largest number common to both lists. This is the greatest common factor (GCF).

	5.
	Divide.  
7235 ÷ 3

	      35 X 10³

	6.
	Solve:

(25 + 40 ÷ 10 x 3 – 10) x 2


	Solve:
80 ÷ 4 + (60 – 30) x 10

	7.
	[image: image1.jpg]



What are the coordinates of the point shown?
	Name this figure:


[image: image2]

	8.
	How many pints are in 7 quarts?

__________________
How many quarts would 32 cups be?

__________________________
	Pints

Cups

1

2

12

3

      What is the rule?  




	THURSDAY 
	Challenge

	Write in standard form: seven hundred three million, twenty-eight thousand and twelve thousandths.


	**    Olivia needed change for the bus. She exchanged three one-dollar bills for nickels and dimes and received the exact same number of nickels as dimes. 
How many nickels and dimes there were in the change? 


	A plane uses 570 gallons of gasoline on a 5 hour trip. How many gallons of gasoline does it use in one hour?


	

	Brett correctly found the value of the expression shown below. Which number represents the value Brett found for the expression?
5 + 4 × (3 − 1) + 1

A.  14
B.  17
C.  19
D.  27
	
[image: image3.png]*%  Wiitea number in the triangle that vall
tmalke the answer 50






	List all the factors of:

18:
49:

Circle the largest number common to both lists. This is the greatest common factor (GCF).
	

	 Katie gave her friends clues about a number she was thinking of. She told them that when her number is tripled and added to 25, the result is 925. What is the number Katie was thinking of?
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7" Mouse runs 10 meters per second

Cat runs 20 meters per second.





	(10 x 5 -12)

2
	

	Which term can be put in the blank to make the statement below true?

3,000,000  =  30  ______________
A.   thousands

B.   ten-thousands

C.   hundred-thousands
D.   millions
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